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X=0

Y=0
111 )= Heres(o)) = L3sinsur 0 =0
X=sin(x)

Y=0
412,21 =Hees(ay) = Masinsur 4 =100 ginsu
X =sin(x) +sin(2x)

Y =cos(3x)

1071 =HeFes(7)] =

X=sin(x) +2sin(2x)
Y =cos(x) + cos(2 X) +cos(3 X)

102 ginsu

s1=HeFes(s)] = 1 23sinsu 5 = 10 2ginsuu
X=2sin(x) +sin(2 %)
Y=cos(x) +cos(3 x)

8112,2, 21 =HeFesis)] 6=110, gingu

X=2sin(x) +
Y=cos(2x) +cos(3X)

3(13) = Herest3)) = Ossinsu
X =si

Y =cos(x) +cos(2x

3=11

insuu

6112, 31 = Heres(s)] = 203sinsu 5 = 10 25insuu
X=2sin(2x)
Y=cos(x) +cos(3x
9113 31 = Heres()] = 1003sinsuur 6 =110 ginguy
X=sin(3x

Y=cos(2x) +cos(3X)



J=Heres(7)) = 100 3insuu
X =sin(x) +sin(3 x)

Y =cos(x) +cos(2 X) +cos(3 X)

10,

13, =111 13=1101

[13] = HeFes(13) 3sinsur sinsuu
X=sin(x) +sin(2%) +sin(3x)

Y =cos(x) + cos(3 X) +cos(4 X)

1612, 2,2,2) = Heres(s)) = 12 3sinsu 8 = 1000, snguy

X=sin(x) +2sin(2x) +sin(3 x)
Y=cos(4X)

Bt es(11)) = 1023 insur 1121015y
X=2sin(x) +sin(3 x)
Y =cos(x) +cos(2X) + cos(4 X)
1412, 7) = eest9)) = 11 23sinsur 9 = 1001 ginguy

X=2sin(x) +sin(2%) +sin(3x)
Y =cos(x) +cos(4 x)

1

1171 =HeFes(17)) =
X=25sin(x) +2sin(2 x) +sin(3 x)
Y =cos(x) +cos(5 x)

12(12,2,31=HeFest7)) = 1 O3sinsur 7= 1 2 ingu
X=sin(2x) +sin(3 x)

Y =cos(x) +cos(2X) + cos(3 X)
15(3, 51 = Heos$)] = 1203 sinsuwr 8 = 10003 ginguy
X=2sin(2x) +sin(3 x)

Y =cos(4x

31 Hees(§)] = 2003 sinsus 8 = 1000,
X=2sin(3x)
Y =cos(4x)




19,16 =201, 19=10011

[19) = HeFes(19) 3sinsu 2sinsuu
X=sin(x) +2 sin(3x)
Y =cos(x) +cos(2 X) +cos(5 X)
22112 11)=HeFest13)] = 2 3sinsur 13 = 11003500,
X=sin(x) +sin(2%) +2sin(3x)
Y =cos(x) + cos(3 X) +cos(4 x)

25115, 51 = Heres(10)) = 2213 10=1010,,

X=sin(x) +2sin(2x) +2si

3%)
Y=cos(2x) +cos(4X)

9=1001

202, 2, 5) = HeFesi) ) = 2023 sinsuur
X=2sin(x) +2sin(3x)
Y =cos(x) + cos(4 x)

2sins

23, 153) - Heres(23)] = 2123 sinsu 23 = 10111

X=25sin(x) +sin(2 x) +2sin(3 x)
Y =cos(X) +cos(2X) + cos(3 X) +cos(5 X)

26005, 13) 15=1111,4

HeFes(15)] =
X=2sin(x) +2sin(2x) +2sin(3x)
Y =cos(x) +cos(2X) +cos(3 x) +cos(4X)

Hees(10)) = 21 03sinsu 10= 10103 gjpg,
X=sin(2x) +2sin(3 x)

X) + cos(4 X)

¥ = cosf

24(12,2.2,31 - Heres(on1 = 2203sinsun 9 = 1003 ipss
X=25in(2x) +2sin(3x

Y=cos(x) +cos(4 X

(D

27115,3, 31 =HeFes9)) = 10005 ingu 9 = 1001350

(4x
Y= cos(x) +cos(4)




28529 | =1001 11=1011

Hefes(
X =sin(x) +sin(4 x)
Y =cos(x) +cos(2 X) +cos(4 X)

3sinsu

31 31) - Heresany = 1011 31=11111

X=sin(x) +sin(2%) +sin(4 x)
Y =cos(x) +cos(2 ) +cos(3 X) +cos(4 X) + cos(5 x)

34012, 17) - HeFes19)] = 102 L3 19°= 1001 Ly
X=sin(x) +2sin(2X) +sin(4 X)

Y =cos(x) + cos(2 X) +cos(5 X)

2920, - Heres20)) = 10023 g 29 = 11101
X=2sin(x) +sin(4 x)

Y =cos(x) +cos(3X) + cos(4 X) +cos(5 )

3255000 =10124 55 10=1010.

HeFes(10) 3sinsur 2sinsuu
X=2sin(x) +sin(2 %) +sin(4 x)
Y=cos(2x) +cos(4X)

3515, 71 =Herest12)] = 10223 gingue 12 1100, gjpgy
X=25sin(x) + 2 sin(2 x) +sin(4 x)

Y=cos(3x) +cos(4X)

302, 3.5)= Hoes(10)) = 10103y 10 = 1010, i
X=sin(2x) +sin(4 x)
Y=cos(2x) +cos(4X)

3313 111 = Hepes(14)] = 10203 singur 14= 1110, ingyy
X=2sin(2X) +sin(4 x)
Y=cos(2 x) +cos(3 X) + cos(4 X)
36(12,2,3, 31~ Heres10)] = 11003 sinsugr 10 = 1010, gy

X=sin(3x) +sin(4x)
Y=cos(2x) +cos(4X)



37 (37) = HeFes(37)) = 1103 ginsuur 37 = 1001015 gy,
X=sin(x) +sin(3 x) +sin(4 x)

Y =cos(x) +cos(3 X) +cos(6 X)

400152 2 51 -Horesny = 1111 1=1011
X=sin(x) +sin(2 x) +sin(3 X) +sin(4 X)

Y =cos(x) + cos(2 X) +cos(4 X)

1 43=101011

x)
Y =cos(x) +cos(2X) +cos(4 x) +cos(6 )

431143 = HeFes(43)] =

X=sin(x) +2sin(2x) +sin(3x) +sin

3812, 19) = Herosi21)) = 110235ins
X=2sin(x) +sin(3 x) +sin(4x)

Y =cos(x) + cos(3X) +cos(5 x)

=10101

2sins

41=101001

112
(a1 =Heresiary = 1112
X=2sin(x) +sin(2x) +sin(3 %) +sin(4x)

Y =cos(x) + cos(4X) +cos(6 X)

Hpan
X

eFes(15)] ~
sin(x) +2sin(2 x) +sin(3 x) +sin(4 x)

Y =cos(x) +cos(2X) +cos(3 x) +cos(4X)

39113, 13- werescie)) = 11 Ossinsur 16 = 10000, ingy
X=sin(2X) +sin(3x) +sin(4 )
¥ =cos(5x
1= HeFes(12)) = 11203 inguur 12= 110036y
X=25in(2%) +sin(3 %) +sin(4 x
Y=cos(3X) + cos(4X)
A5113,3,51=Hores(11)] = 12003 insur 11 =101 Ly gingyy

X=2sin(3x) +sin(4 x)
Y =cos(x) + cos(2X) +cos(4 X)



HeFes(25)] = 12003 ginsu 25 = 11001y ingyy
X=sin(x) +2sin(3x) +sin(4 )

Y =cos(x) + cos(4X) +cos(5 X)

46,

4917, 71 =Heest14)) = 121 3sinsu 14 = 11102500y
X=sin(x) +sin(2x) +2sin(3x) +sin(4x)
Y=cos(2X) +cos(3 X) +cos(4 x)

52112, 2, 13)=Herest 1)) = 122 singu 17 = 10001 gy,
X=sin(x) +2sin(2x) +

Y =cos(x) + cos|

in(3x) +sin(4x)

47 (47) = Herestan) = 12 47=101111

sinsu 2sinsuu
X=25sin(x) +2sin(3x) +sin(4x

Y =cos(x) +cos(2 X) +cos(3 X) +cos(4 X) + cos(6 X)

502, 5, 51 = HeFes(12)] = 12123 sinsu 1271100, gjngyy
X=2sin(x) +sin(2 %) +2 sin(3 %) +sin(4x)

Y=cos(3x) +cos(4X)

53(153) = HeFes(s3)] = 53=110101,
X=2sin(x) +2sin(2 ) +2sin(3 x) +sin(4 x)
Y =cos(x) +cos(3X) +cos(5 x) +cos(6 X)

Heres(11)) = 12103sinsuur 11 =101 T3 ginguy
sin(3 %) +sin(4x
Y =cos(x) +cos(2X) + cos(4 X)

X=sin(2x)

=1220.

ST{3,17) = HeFes(20) ssinsu 20 = 10100, ingy
X=25sin(2x) +2sin(3 x) +sin(4x)

Y=cos(3x) +cos(5x)

T
A

J
4\

~

54112,3,3, 31 =Herest11)] = 20003 ingu 11= 101Dy gjpgy

X=2sin(4x)
Y =cos(x) + cos(2X) + cos(4 X)



55,5 1) ~HeFos(16)] = 2001 gngu 16 = 10000,
X=sin(x) +2 sin(4 x)
Y= cos(5 x)
812,291 =Heres(31) =20 asinsur 31 = 11 pginguy

X=sin(x) +sin(2x) +2sin(4 x)
Y =cos(x) +cos(2 ) +cos(3 X) +cos(4 X) + cos(5 x)

61 61=111101

[161] = HeFes(s 3sinsu 2sinsu
X=sin(x) +2sin(2x) +2sin(4 x)

Y =cos(x) +cos(3 X) +cos(4 X) + cos(5 X) +cos(6 X)

=201
1

Heres(13)] = 200235
X=25in(x) +2sin(4 %)

Y =cos(x) + cos(3 X) +cos(4 x)

3=1101

312.2.2.7) w 2sin

59,150

= Hoes59)1 = 2012 i 39 = 11101 g
X=2sin(x) +sin(2x) +2sin(4x)

Y =cos(x) +cos(2 X) +cos(4 X) +cos(5X) + cos(6 X)

2,311 =HeFes(33)] ~ 20223 ingu 33 = 100001 o,
X=2sin(x) +2sin(2x) +2sin(4x)

Y =cos(x) +cos(6X)

= 20103 gingur 22 = 10110, gy
X=sin(2x) +2sin(4 x)
Y =cos(2 X) +cos(3 X) +cos(5 X)
605,33, 51 = Heros(12)] = 20203 ginsup 12 = 1100, 50
X=25in(2X) +2sin(4x
Y=cos(3x) +cos(4X)
6313,3.7) = Heres(13)] = 21003 singur 13 = 11013y

X=sin(3x) +2sin(4 x)
Y =cos(x) + cos(3X) +cos(4 X)



Heres12)) = 2101 g 121100
X=sin(x) +sin(3 x) +2 sin(4X)

Y =cos(3x) +cos(4X)

1l

671671 < HeFestsn)] 67=1000011, 514,
X=sin(x) +sin(2x) +sin(3 x) +2sin(4x)

Y =cos(x) +cos(2X) +cos(7x)

2121 g 14=1110,

7012, 5,71 = Heres(14)] = 212 3sinsu 2 sinsuu
X=sin(x) +2sin(2x) +sin(3x) +2sin(4x)
Y

cos(2X) + cos(3 X) + cos(4 X)

6515, 13) = HeFes(18)) = 21023insuun 18 = 10010, gipgy
X=25sin(x) +sin(3x) +2sin(4x)
Y=cos(2 X) +cos(5 X)

6812,2,17) = HeFes(21)] = 21 23 singur 21 = 101015 gy,

X=2sin(x) +sin(2x) +sin(3x) +2sin(4x)
Y =cos(x) + cos(3X) +cos(5 X)

71=1000111

171) = HeFes7n)) 3 sinsur
X=25sin(x) +2sin(2x) +sin(3x) +
Y =cos(x) +cos(2X) +cos(3 x) +cos(7X)

66(2,3, 1) = HeFes(16)) = 2110 singuue 16 = 10000, gy,
X=sin(2%) +sin(3x) +2sin(4x,
Y =cos(5x
6913, 23] = HeFes(26)] = 21203 sinsuur 26 = 11010, gy,
X=25sin(2x) +sin(3 x) +2 sin(4 x)
Y =cos(2 X) + cos(4X) + cos(5 X)
T2(12,2,2.3,31=Heres12)) = 2203 sinsu 127 1100 gy

sin(3 %) +2sin(4x
Y=cos(3 %) +cos(4X)




3,73 - eres 7)) = 2201 73 =1001001,

3sinsu 2sinsuu
X=sin(x) +2sin(3 x) +2sin(4 x)
Y =cos(x) + cos(4X) +cos(7x)
76((2,2, 19) = HeFes(231] = 22 3 singur 23 = 10111 gingy

X=sin(x) +sin(2%) +2sin(3 %) +2sin(4x)
Y =cos(X) +cos(2X) +cos(3 X) +cos(5 X)

911791 < HeFes(79)] = 79=1001111
X=sin(x) +2sin(2 ) +2sin(3 x) +2 sin(4 x)
Y =cos(x) +cos(2X) +cos(3 X) + cos(4 X) +cos(7X)

4112, 37) = HeFesi39)) = 22023 sinsue 39 = 100111,
X=2sin(x) +2sin(3 ) +2 sin(4x)

Y =cos(x) +cos(2X) +cos(3 x) +cos(6 X)

P71, 1) = HeFes(18)] = 221 23 sinuur 18 = 10010, g,
X=2sin(x) +sin(2x) +2sin(3x) +2sin(4x)

Y=cos(2x) +cos(5X)

2 HeFes(13)] = 13=1101,
2sin(x) +2sin(2%) +

Y =cos(x) + cos(3 X) +cos(4 X)

in(3x) +2sin(4x)

113,551 = Hees(13)] = 22103 insue 13 = 1101,
X=sin(2x) +2sin(3 x) +2 sin(4 x)

Y =cos(x) + cos(3X) +cos(4 x)

s

78112, 13) = HeFes(18)] = 22205 singuur 18 = 10010, gy,
X=2sin(2%) +2sin(3x) +2sin(4x)
Y=cos(2x) +cos(5X)

815y = 10000 g 12 = 1100,

3.3, 3] =HeFes(12)] sinsuus 2 sinsuu

X=sin(5 x
Y =cos(3x) +cos(4X)



82(15, 1) = Heres(a3)) = 100013 gy 43 = 101011,
X =sin(x) +sin(5 x)

Y =cos(x) +cos(2X) +cos(4 x) +cos(6 X)

=10011; =10110,,

855, 17) = HeFes(22)
X=sin(x) +sin(2%) +sin(5x)
Y=cos(2X) +cos(3 X) +cos(5x)

881222, 1) = HeFes(17)] = 100215 sinsuy
X=sin(x) +2sin(2x) +sin(5x)
Y =cos(x) + cos(5

83, =10002 83=1010011,

183) = HeFes(83) 3sinsu 2sinsuu
=2sin(x) +sin(5 )

Y =cos(x) +cos(2X) +cos(5 x) +cos(7 )
86((2,43) = HeFes(as)] = 1001 Zysinsu 45 = 1011013 ingyy
X=2sin(x) +sin(2 %) +sin(5 x)
Y=cos(x) +cos(3 X) +cos(4 x) +cos(6 X
89(150) = Heres(s9)] = 100223 gipguye 89 = 1011001 g,

X=25sin(x) +2sin(2x) +sin(5x)
Y =cos(x) +cos(4 X) +cos(5 x) +cos(7X)

14=1110

suur 2 sinsuu

Hees(14)) = 100103
X=sin(2x) +sin(5%)
Y =cos(2 x) + cos(3 ) + cos(4 x)

7113,29] = HeFes(32)] = 100203 gingys 32 = 100000, gy,
X=2sin(2X) +sin(5x)
Y =cos(6 x

= 101004 g 13 = 1101,

90;5,3, sinsuur 2sinsuu

3,51 = HeFos(13)]
X=sin(3x) +sin(5x)

Y =cos(x) + cos(3X) +cos(4 X)



=10101 20=10100.

9117, 13) = HeFesi20)
X=sin(x) +sin(3) +sin(5x)
Y=cos(3 X) +cos(5X)

3sinsuur 2 sin

9415 47) —ers(9)] = 1011 L3 gy 49 = 110001
X=sin(x) +sin(2 x) +sin(3X) +sin(5 )
Y =cos(x) +cos(5 X) + cos(6 X)

ssinsu 97 = 1100001, g,

97197 = eres(o7)) = 101

X=sin(x) +2sin(2x) +sin(3 %) +sin(5x)

Y =cos(x) + cos(6 X) +cos(7X)

=101025 gy 27 = 11011 ooy
X) +sin(5 x)

Y =cos(X) +cos(2X) + cos(4 X) +cos(5 X)

95115, 19] = HeFes(24)] = 1011 23 insu 24 = 11000, gjpg

X=2sin(x) +sin(2x) +sin(3 %) +sin(5x)

Y=cos(4x) +cos(5X)

98,3 7,71 Heres(16)] = 101225 gngur 16.= 10000,
X=2sin(x) +2sin(2) +sin(3X) +sin(5X)
Y= cos(5 x)

34=100010,

w 2 sinsuu

93(13,31) = e
X=sin(2x) +sin(3 x) +sin(5 x)
Y=cos(2X) + cos(6 X)

= 10110,

96(12,2,2,2,2,31 = HeFes(13)] = 101205ginsuur 13 = 11013 jngpy
X=2sin(2x) +sin(3x) +sin(5x
Y =cos(x) +cos(3 x) +cos(4 X)
99(15,3, 1) = eres(17)) = 102005 ingy 17= 10001, g,

X=2sin(3x) +sin(5x)
Y=cos(x) + cos(5 x)



S MBI

oL ZAITITH HHEX DA EGE

Ry T ADTERDF

SHLEIR FErmbiany &y






s IR
/’)’l;,- \\\\\\\\\\
A7\

27711\
I\

.aéﬁzﬁﬁﬁwv

N

\\\‘\\

\\\‘\\
AR
i

~— il \\\\\\\\\\\‘tti{{{\\ﬁ\y/

(5807°9°0)

AN -
<”////77//////// W
i : L

\\




Ny T ADEH

EEOR 2 0 2EMBEIC3 A3 SAEEY .,
3X (IF»2) O3 EN—ERLEZHD L), LR EH

EXFH 2EMREICIEAISEZIMY, VEFVEERTXEZTS









PLiRERE 1

4 52 A TH



e 2 IR H-Papus-Papus

X
P
,&V

%iiﬁ



Ebisui-Papus-Papus Theorem
Hirotaka Ebisui

Oval Research Center

Abstract: Papus Theorem is very famous in Geometry History. About this theorem,We hit to The
Two USE of Papus Theorems. And, We found Following Theorem. In This Theorem, First of all
We fix 3 paralell Lines. and draw two papus structures like following figure. In this composition
A, B, C, D are given on 3 Paralell lines and wuse these 4 points to construct papus Theorem
then, line xx',yy',zz' are concurrent and xyz, x'y'z', BC are concurrent.

We call This as Ebisui-Papus-Papus Theorem.

We give the enjoy of proof to all. Thank you for your sharing of this theorem.

BNy T ANy T AD =T 10 ER
2015/06/06 3:56

Reference  Kentaro Yano "$&{i D 4 72 £ #L"; Kyoritu,2005



Ebisui-Papus-Papus Theorem
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Ehisui Pasacal, Papus LASROEH
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Ebisui-Pascal Theorem

b f- R






2015-9-3

ki A







IR




:
v
;e
3

¥
¥
¥
-
%
:

B i L il

SRR ERIE

¢
s
I
%

-
‘
B
v
-













[> # BUNSU by H.E 2014-6-10:

> #1:

> MDP = [31,28,31, 30,31, 30, 31, 31, 30, 31, 30, 31J;

i MDP:=[31, 28, 31, 30, 31, 30, 31, 31, 30, 31, 30, 31] (1)

> ¢ := 0 for hy from 26 to 50 do for m from 1 to 12 do for d from 1 to MDP[m] do for ¢

from 1 to 24 do for ffrom 1 to 60 do HiDa := L + L + 1 + 1 + 1 :

hy m d t f

1 1 1
if floor| eval, - =— thenc := ¢+ 1 : print| Hida(¢)| ——————
( 4 HiDa HiDa p ) hy[HeY ]
1 1 1 1
+ + + + — =HiDa/| | fi:od:od:0d:0d:0d:
m[M] d[D] T}  flmi]
Hida(1) 1 1 1 1
27 +27+37+97+754 =1
HeY M D T mi
Hida(2) 1 1 1 1
27 +27+97+37+754 =1
HeY M D T mi
Hida(3) 1 1 1 1
7 "3 ot s T
HeY M D T mi
Hida(4) 1 1 1 . .
27 +37+97+27+754 =1
HeY M D T mi
Hida(5) | | 1 | 1
27 TR T )
HeY M D T mi
Hida(6) | | 1 | 1
27 ty ottt T T3
HeY M D T mi
Hida(7) | 1 1 | 1
7 T To Tt Ta T
HeY M D T mi
Hida(8) 1 1 1 1 1
27 Tyt ty T3
HeY D mi
Hida(9) 1 | 1 1 |
27 6 e tTo T 72
HeY M D mi
Hida(10) 1 1 1 11
7 e o te T T3
HeY M D T mi
Hida(11) 1 1 1 11
27 Tt ts s T2 3
HeY D mi
Hida(12) | 1 1 o
27 T T TR +27._3
HeY M D T mi
Hida(13) 1 1 1 11
7 8 o Yt twaw T3
HeY M D T mi
Hida(14) | { { ) | .
27 Ty T to twm T3

HeY M D T mi




Hida(15)

Hida(16)

Hida(17)

Hida(18)

Hida(19)

Hida(20)

Hida(21)

Hida(22)

Hida(24)

Hida(25)

Hida(26)

Hida(27)

Hida(28)

Hida(29)

Hida(30)




Hida(33) |

Hida(34) |

Hida(35) |

Hida(36) | 1 1 1 |

Hida(37) |

Hida(38) 1 1 1 1 1

Hida(39) |

Hida(40) |

Hida(41) . 1

Hida(42) |

Hida(43) |

Hida(44)

28
HeY

Hida(45)

28
HeY

Hida(46)

28
HeY

Hida(47) | 1
28He}’ 2M

Hida(48) |
28

J—

<"
W)
~
3

<=
@]
-
:

<)~
o)
~
s

1
L
HeY M
Hida(49)




Hida(51)

LSS B NS I B
28 2 14 4 7
HeY M D T mi
Hida(52) | | | |
® T2ttty 7!
HeY M D T mi
Hida(53) | . . . .
® T2 Ttz thmo 7!
HeY M D T mi
Hida(54) ) | . .
® T2t tate 7
HeY M D T mi
Hida(55) | | | .
® _ta Tty i 7!
HeY M D T mi
Hida(56) . . . .
® 2 Ttttz !
HeY M D T mi
Hida(57) | . . | .
® T3ttt !
HeY M D T mi
Hida(58) | . | | .
® _t3 tootyn oo !
HeY M D T mi
Hida(59) | ) .
® T3 ta oty tor 7!
HeY M D mi
Hida(60) | 1 | | |
I T I
HeY M D T mi
Hida(61) . .
T I TR
HeY M D T mi
Hida(62) | . . . .
® T3ttty 7!
HeY M D T mi
Hida(63) | | | |
® T3 Tttt 7!
HeY M D T mi
Hida(64) | . . . )
® 3 T ta tz 7!
HeY M D T mi
Hida(65) | | | | L
% "3 T ta tse T2
HeY M D T mi
Hida(66) 1 1 1 1 1
® T3 T ot Te T2
HeY M D T mi
Hida(67) . | L
28 T3t T tw T2
HeY M D T mi
Hida(68) 1 1 1 1 1
28 T3t T Y3 T2
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Pachikuri AKISOYOGU by H.E

BGT="05-25 (11:39:35 PM)", [80], HEB=[8, 5, 2]

. 1383 . 1844 461 461 1
X—sm( 10 tj +s1n(—5 t) cos(—2 t) cos(—5 t) cos(tan( 5 tj)
B 461 1844 461 461 1
Y—cos(—5 t) +cos(—5 t) cos(—2 t) cos(—5 t) cos(tan( 5 t)j
[tzO..Z T, st= %} HEF I [EF

"2015-05-25 (11:39:35 PM)" )




Hig — Equ

X=s5in(1265) + sin(378s) cos(315) cos(6305s) cos[tan( % S) ]

Hi —Equ
2432 Y =cos(1895s) + cos(3785S) cos(3155) cos(6305) cos(tan( % S))
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> #pl1®+p2°+ p3° + pa® + p5° + p6° + p7°=prime {whene =1, 2, 3, 4, 5, 6, 7} =all prime
L by HE:

> ¢ := 0 :for hl from 3 to 10 do for h2 from hl + 1 to 10 do for h3 from h2 + 1 to 25 do
for h4 from h3 + 1 to 50 do for h5 from h4 + 1 to 60 do for h6 from h5 + 1 to 70 do

for h7 from h6 + 1 to 80 do for e from 1 to7 do SP|e := ithprime(h1)®
+ ithprime(h2)® + ithprime(h3)® + ithprime(h4)® + ithprime(h5) ¢ + ithprime(h6 ) ®
+ ithprime(h7)® :od:if isprime (SP || 1) and isprime (SP||2)and isprime (SP || 3)
and isprime (SP||4)and isprime(SP||5) and isprime(SP||6)and isprime (SP|| 7)
thenc := ¢ + 1 : print({ithprime(hl)[h1], ithprime(h2)[h2], ithprime(h3)[h3],
ithprime(h4)[h4], ithprime(h5) [h5], ithprime(h6) [h6 ], ithprime(h7)[h7]}) : print
(PrimeSumPrime[ [P[SP |11, P[SP|127% PISP|I3T, P[SP 141", P[SP|I5T, P[SP| 67,
P[SP||71]][c]): print( ) fi:od:od:0d:0d:0d:0d:0d:

{5575 115, 13, 175, 234, 271}

PrimeSumPrime ) 3 5 6
P.,»P . P , . P . P .
; 347 74623 19923587 5393990071 1461668718827  396110123010223
P
107345798750789267] ]

{55 7p 15, 13, 173,49, 3475, 397,

PrimeSumPrime 5 3 4 s 6
» P . P . P . P . P ;
. [953 TOSBH 109534409° * 40234715431 15047600972633"  5687639483459191

P

2164701257118689129 |,
{53 Tp 136 173, Ty, 9755, 1016}

PrimeSumPrime ) 3 s 5 7
P ,P ,P . ,P ,P ,P
311 25183 2308463 218116471° 20903481191° 2022621537103 197107413836063 |

{53 74 1364314, 597, 26356, 349,

PrimeSumPrime 5 3 s 6
PPl P P P P ,
5 739 196543 60987547 19635401911 6436730298259  2137953988895983
P
717671901785402827] 4

{53 Tp 136 T35, 1016, 1975, 223}

PrimeSumPrime ) 3 5 5
P P ,P , P ,P P ,
7 619. 104311 20156923 4111602151 860765921419 182643083893591
P

39057456137468443]5

{53 Ty 173,371, 13135, 2415, 3135)

PrimeSumPrime ) 3 5 6
P2 osa P P P P ,
; 751 [ 174943° 46965943’ 13267788151 3855790803391"  1141286207791183

P

342195052741886983]6

(53 T 1754115, 89, 1074, 233, )

PrimeSumPrime 5 3 5 6
P oo Preros Pl P P ,
. 499_ 75703 14653651 3144029671 706446729139 162008212557463
P

37486338931777171]7

{53 Tp 173, 611, 735, 1275, 1315,




PrimeSumPrime ) 3 5 5 -
P ,P2_p , P4 ,P ,P ,P
421" 42703 4917853 596975191° 74536966741 9452664930463 1209129034661773 |¢

{53 T4 173 795, 8353, 197,5, 2295}

PrimeSumPrime 5 3 s 6
P P P P P ,
; 617, 104743’ 20724569 4342691911° 933490209737 203237597210983

P

44586752895800249]9

{53 7o 1732 9755, 199,46, 211,47, 293}

PrimeSumPrime ) 3 5 6
P2 P P P P ,
; 829 179743’ 43346341° 11009025271" 2898320467789"  783894267722383

P

216443823163401781

{55 T4 195,29, 41,3, 73,1, 349, )

PrimeSumPrime ) 5 5 6
PPl P P P P ,
; 523" 130087 42998203 14867548231 5179795711723 1807133464418407
P

630646141889247643 | |

{53 74> 19 3715, 611, 89,,, 191,3)

PrimeSumPrime ) 3 s P
P2 P , P ,P ,P ,
; 4oT 49927 7957801 1409458951° 260695397689 49102340843527
P
12

9320754122456521

{53, T 19, 21147, 227 49, 27 1 o4, 31164}
PrimeSumPrime
p P2 p3 , P4 , P> , PO .
; 1051 266647" 71081083" 19386022951" 5392019020891 1525997978639287
P
438423338791846843 | 5

(53 742 230,29, 15737, 193, 27755}

PrimeSumPrime 5 3 s 5
P2 P Pl P P ,
; 691" 140071" 32349907 " 7883390791" 1993994169331’ 518389023341671

P

137455112286417427 4

{53 74 230, 371, 8353, 1313, 1575,

PrimeSumPrime 02 03 5 6

p4 P P
; [44’ 50671" 6753059 951688471 137983323083"  20359639244671’
P
3040540288032179] ;5

{53, 74 234, 41,5, 1914, 227, 38376}
PrimeSumPrime
P2 P P P> .Po :
; 877 T36983 74928397" 25506872551" 9098321026477  3341782302135703
P

1249234915284327757| ¢

{53 T4 230, 611, 735, 27759, 383}

PrimeSumPrime 5 3 s p
,P ,P , P4 ,P P :
7 829 T33071 78064453 27447529111 9874981971469 3608337097619071

P

1334046207069688213 ] | 5
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